Mathematics Department

Gracemount High School


Problems with Four Operations
1.
A wheelbarrow weighs 29 kilograms and 65 kilograms of garden soil is loaded into it. What is the weight of the loaded barrow?
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Nathan is 137 centimetres tall. If he is standing on a stool which is 56 centimetres tall, how high is he standing above the floor?

3.
Swindon is 123 kilometres from London, and Newport is 89 kilometres from Swindon. How far is it from London to Newport?


4.
A car is towing a horse box which weighs 455 kilograms. A horse of weight 372 kilograms is travelling in the box. What is the total weight that the car is towing?
5.
Pritesh is cycling to his uncle's house which is 85 kilometres from own. After he has cycled for 37 kilometres he stops to buy some sweets. How much further does he have to go?


6
Jane's mother is 160 centimetres tall.
a)
If Jane is 29 centimetres shorter, how tall is Jane?

b)
If  Jane's sister Mary is 41 centimetres shorter than their mother, how tall is Mary?
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How much taller than Mary is Jane?

7.
Jake's father weighs 75 kilograms. 



a)
If Jake is 38 kilograms lighter, how heavy is Jake?

b)
If Jake's brother Daniel is 46 kilograms lighter than their father, how 



heavy is Daniel?

c)
How much heavier than Daniel is Jake?

d)
If their mother is 16 kilograms lighter than their father, how heavy is she?

e)
How much heavier is the mother than each of the two boys?
8.
Vicky's younger sister Josie weighs only 19 kilograms.


a)
If Vicky is three times heavier than Josie, how heavy is Vicky?

b)
If their father is five times heavier than Josie, how heavy is he?
Work out these divisions.

For each question state which part has a different answer from the other two.

9.
a)
39 ÷ 3

10.
a)
68 ÷ 4

11.
a)
91 ÷ 7


b)
28 ÷ 2


b 
54 ÷ 3


b 
96 ÷ 8


c)
65 ÷ 5


c)
90 ÷ 5


c)
60 ÷ 5


12.
Five identical sacks of flour are placed on a weighing machine and the dial reads 85 kilograms. What is the weight of each sack?
13.
A small school has 84 pupils. There are 7 classes with the same number of pupils in each class. How many pupils are there in each class?
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Harjeet goes into a shop and buys a jumper which costs £7.55 and a pair of shoes which costs £8.65. Find:


a)
how much she spends

b)
her change out of a £20 note.

15.
Mrs Patel goes to a sale and buys a table which costs £11.25 and a chair which costs £4.15. Find:


a)
how much she spends


b)
her change out of a £20 note.

16.
Tim goes to a market and buys a radio which costs £6.35 and a spare plug which costs 85 p (£0.85). Find:


a)
how much he spends

b)
his change out of a £10 note.
17
Sophie goes into a shop and buys a box of crayons which costs £3.95 and a pen which costs £1.35. Find:


a)
how much she spends


b)
her change out of a £10 note.
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Robert requires two pieces of wood, one of length 1 metre 55 centimetres and the other of length 1 metre 25 centimetres.

If the wood is only sold in 2 metre or 3 metre lengths, find each of the following:


a)
the total length he requires


b)
the length of the piece he must buy


c)
the length of wood he will have left over.
19.
Mrs Brown requires two lengths of curtain rail, one of length 1 metre 65 centimetres and the other of length 85 centimetres (0.85 metres).


If the curtain rail is only sold in 2 metre or 3 metre lengths, find each of the following:


a)
the total length she requires.

b)
the length of the piece she must buy.

c)
the length of curtain rail she will have left over..

20.
Paul buys 4 toy cars which cost £2.15 each. Find:


a)
the total cost

b)
the change from a £10 note.
